/*x*x This is GPIB sample program to get Histogram for SIA-3000 skx/

#tinclude <stdio.h>
#tinclude <stdlib.h>
#tinclude <malloc. h>

#tinclude <windows. h>
#tinclude “decl-32.h”

#define BDINDEX 0 // Board Index

#tdefine PRIMARY_ADDR_OF_SIA 5 // SIA-3000 GPIBADD=5

#define NO_SECONDARY_ADDR 0 // Secondary address of device
#define TIMEOUT T10s // Timeout value = 10 seconds
#define EOTMODE 1 // Enable the END message
#define EOSMODE 0 // Disable the EOS mode
#tdefine ESB_BIT (0x20)

#define BUFFERSIZE 1024 // Size of read buffer

#tdefine Nul | Y0

#tdefine NG 0

char DataBuff [BUFFERSIZE + 11;

char ErrorMnemonic[211[5] = {”EDVR”, “ECIC”, “ENOL”, "EADR”, “EARG”
“ESAC”. “EABO”. “ENEB”. “EDWA”. *~
“E0IP” “ECAP”. “EFSO”. . "EBUS”
“ESTB” “ESRQ”. " 7" " “ETAB"]:

void GPIB_Cleanup (int Dev, char* ErrorMsg);
void SendGPIB (int Dev, char* pString);
void ReceiveGPIB (int Dev);

/Hkk main start s/

int main ()

int SIA, Fitting_0K;

/¥kx [nitialize Device skx/

SIA = ibdev (BDINDEX, PRIMARY_ADDR_OF_SIA, NO_SEGCONDARY_ADDR
TIMEOUT, EOTMODE, EOSMODE) ;

if (ibsta & ERR) {

printf (“Unable to open device¥nibsta = 0x%x iberr = %d¥n”, ibsta, iberr);
return 1;

}

[/ SINDHBALEITNET

SendGPIB (SIA, SYST COMPOFF ; : SYST : HEADOFF ; *ESE255 ; *SRE255”) ;
// :SYST:COMPOFF DISED A V/RF T - %—Fé# ITLET
// :SYST:HEADOFF SIMLEDT—RIZAYEEMITFHENESIZL

// HistogramBIEDE/NTA—F ZZELET,

SendGPIB (SIA, “:HIST: DEFAULT )
/] BINT A— Qw*ﬂﬁﬁﬂ:é WEYT, GigaVewy 7 o = 7 THistogramy— L &
// BWT=RF &R CAREE TTQ

[/ UTOREISWNPRELRLTTA, SZEDHRELEFT ., ERICEFOLHELLZLY
[/ BEICFAERFDEOICETT IHERIHY FEA
SendGPIB (SIA, “:HIST:PARAM:CHAN1");
/] BIEF v 4 E IS LET,
SendGPIB (SIA, “:HIST:PARAM:FUNC PER+") ;
/ BIET DR %EPeriod+ GIENYMNSIENYETORAM) ICHRELET .
SendGPIB (SIA, “:HIST:PARAM: SAMP 10000")'
// BEBE#E1FEICEELET,
SendGPIB (SIA, “:HIST:PARAM:ARM:MODE STOP”);
/ Arming ModeZArm On StopE— KIZEHELZEY,
SendGPIB (SIA, ":H|ST:PARAMZIHRESHOLD 5050”):
// BEZEATOGO%) IZERELET,

// DI/RI/TIZBIFES H1-8hI<Tail FitZEnablelZLEY,
SendGPIB (SIA, “:HIST:TAIL:MODE ON”);

é/f:#%ﬂi%%%b$¢°
[0}
SendGPIB (SIA, “:HIST:ACQ;*OPC”) ;

// BIEDRET
SendGPIB (SIA, “:HIST:TAIL:COMP?”);
ReceiveGPIB (SIA);

=7,

bS]



Fitting_OK = atoi (DataBuff):
// Tail FitMET L= DR
} while (Fitting_OK == NG);
// Tail FithET3BFETIL—TLET,

// BIEFEROEREF B

SendGPIB (SIA, “:HIST:DJ?7);

ReceiveGPIB (SIA);

printf (“DJ: %s¥n”, DataBuff):
// DIDFRZERT

SendGPIB (SIA, “:HIST:RJ?");

ReceiveGPIB (SIA);

printf (“RJ: %s¥n”, DataBuff);
// RIDEFG & TR

SendGPIB (SIA, “:HIST:TJ?");

ReceiveGPIB (SIA);

printf (“TJ: %s¥n”, DataBuff);
// TVOBE ERR

printf ("¥n¥nStrike ENTER to continue...”);
gets (DataBuff) ;

ibonl (SIA, 0):
return 0;

}

/*k% main end *¥x/

/*x*x Function Group skx/
%oid GPIB_Cleanup (int Dev, char* ErrorMsg)

printf ("Error : %s¥nibsta = Ox%x iberr = %d (%s)¥n”
ErrorMsg, ibsta, iberr, ErrorMnemonic[iberr]);

if (Dev I=-1) |
printf (“Cleanup: Taking device offline¥n”);
ibonl (Dev, 0);

}

/#kx Send command to SIA sxx/
%oid SendGPIB (int Dev, char* pString)

ibwrt (Dev, pString, strlen(pString));

if (ibsta & ERR) {
| GPIB_Cleanup (Dev, “Unable to send command to SIA”);

}

/*xx Receive Data from SIA kx/
%oid ReceiveGPIB (int Dev)

ibrd (Dev, DataBuff, BUFFERSIZE);
if (ibsta & ERR) {
GPIB_Cleanup (Dev, “Unable to read data from SIA”);

}
DataBuff[ibent!-1] = Null;



